CASIO
S FX-991ZAPLUS |
el Josin(X)dx 1
K,l a,'fé../ G{‘a.;'/ .““-'I .. -'.
Vs, yaaf |

CASIO.

00VVOO
DDOVOOO
wwooqc

90O

s General Worksheet

MODE SETUP

FX-82ZA PLUS vs. FX-991ZA PLUS

¥
1:COMP =22 CMPLA
e =2TAT diBARAZE-M
= ERN SiMATRI A
‘7:TAELE S:WECTOR

1:COMP Z2=2TAT
S: TABLE




*NEW FEATURES™
* Q1, Med, Q3 calculations in statistics
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*NEW FEATURES™

ORG - Prodns

* Previous Answer Key |@'{

* n-th power of a complex number
* Distribution Calculation MODE

A L) A
1:0IET 1:iMormal PC 1:Einomial CC
MODE ® 1 ZtMormal Ch ® Z:Poisson PO
31 Inverse Mormal Z:Poisson Ch
diBinomial PC

* Prime Factorisation 6
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SOLVE for an unknown

CALC the value of an expression

INTEGRATION & DIFFERENTIATION

SIGMA NOTATION calculations

SCIENTIFIC CONSTANTS

METRIC CONVERSIONS
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MODE 1 : COMP (Computational Mode)
Using CALC to find the value of an expression

Calculatefora=2andb=6

2
1. 9a+b e
Input expression (8] () (@) (&7 (] (wee] fosr
c) Substitute [A? 7 =
0
if 5= %R
0 42
2. c=a+b
Input expression APHA) (hyp) (ALPHA) (CALC) (APHA) (&) () (APAA) Fors
C=A+B Tl = B2 =
2 6
C=B
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Using SOLVE to find the solution of equations
y=9Xx-24a+bc,witha=2,b=3andc=6
1) Solve for x, wheny =0

Input expression

Y=O%-24A+BC

ath &

ALPHA] (S+D) (ALPHA) (CALC) (9 ) (ALPHA) ) ] [=] (2 APHA) (©) () (ALPHA) 299) (ALPHA) (hyp)
% siFT| cac) Substitute |7 = |A?
I 2
— B 3 —_ L7 6 —
6 s

s0lve fnr:-i

I

Math &

“.“=EI:{—24|£'|+|: —> expression
E= _ 3. o3a3333333 = solution

F= 1 = the closer this value to zero the more
accurate the solution
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2) Solve forb, wheny=3,x=2,a=2andc=6

Return to expression .
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Solve:

X =100

2logXx+3logx=10

SOLVE works in COMPUTATIONAL mode
SOLVE can solve for variables other than “x”

SOLVE works for equations other than quadratic & cubic

ONLY use

Casio Scientific Technology Tip

ON] when switching the scientific calculator on.

To clear your screen, rather use

AC

this saves your calculator’s temporary memory
(see the A in the top right corner of the screen)
Use @ () to review previous calculations.




MODE 5 : EQN (Equation)

= W

MODE

Simu
Simu
Quac

Cubic equation

v
ZMPL#

1:CcamMiPE 23

SaxTAT  d4iBARASE-M 5
=1 ERM SiMATRIA
Ji:TAELE S:VECTOR

taneous equations (2 unknowns)
taneous equations (3 unknowns)

ratic equation

1: ans+bny'=Cr
Z 5 anat+bnY+Cnd=4dn
=1 ans+ba+4c=0
d 1 ans b2 +Ca+0d=0
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MODE 5 : EQN

Solving
SIMULTANEOUS EQUATIONS
with 2 unknowns

Solve for X and y: 3x + 2y = -8 5X—4y=—-6
3lI=]||2]|=||==||8]||=||[5]||[=][==][4]||=]||=-]|6]||=
3 blﬂ hI'I:ath
I B =

-&
| y= - i
=) =)
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MODE 5 : EQN

Solving a ol "0 C oo
CUBIC EQUATION =~ Y008 (5] 14 )

2X3 +3x2=11X+6
2X3 +3x2-11x-6=0

21 |1=|13

of Leff Tefr "

1
Keep in mind then that the factors of this cubic function are: (x, +3)(x, —2)(x, + 2)
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MODE 5 : EQN

Solving a meler "0 ° oo
IMODE] |5 ] [ 3
QUADRATIC EQUATION q
X2 —X = 12 ; bm Math
2y —19 = 0 t Y T o mEE
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Calculus
Integration

Find the area of the region bounded by the graphs
f(x) =x*—Xx—6andg(X)=x-3

Step 1: Sketch graphs f(x) =x* — X — 6 and g(x) =x — 3,
use TABLE MODE to help you




Step 2: Solve for the intersection of the two graphs
Using EQN MODE - 3: Quadratic equation
X*—X—-6=X-3
X2—2X—3=0
X,=30rX,=-1 Hence our interval is [-1 ; 3]

Step 3: Set up the integral in COMP MODE &2 ¢

3
j(x—3)—(x2 — X —6)dx
-1

Area = 10,667 square units




Differentiation

Find the gradient of the graph
y=2X*+2X-5,atx=1

_(f 5 e
%

(:.-’- B

d

— (2X2 +2X — 5)‘
dx X=1

Gradient =6
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2 Notation

Write the following in Sigma Notation,
then calculate the value :
Ix2 + 2x3 + 3x4 + 4x5 + 5x6 + 6x7 + 7x8 + 89 + 9x10 + 10x11

10
2. (X(X+1)) = 440
x=1



See the INSIDE COVER of the calculator:

ScientificlConstants
[Shift] [7] (CONST) Number 01 — 40

Metric{Conversions
[Shift] [8] (CONV) Number 01 — 40
[07]
1mile p» km
[=]
1.609344
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MODE 2 : CMPLX (Complex Number)
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MODE 2 : CMPLX

= Simplify (8 + 6i) + (3 + 2i):

0 @) F 61 D] [F (B+ELJ+HC+2ET
() (3] (4] [2] [ENg] ()] [= 11+3i
u S|m ||f '4' 3'5' CMPLY ] Wath &
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O [A4]ENG [ C)][3][==||B]|[ENG] | )] |= S90-174
o 5491
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(-5+931 o8
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MODE 2 : CMPLX

Sub Menu I.f\yl

I CMPLX 1

SHIFT

* Find the conjugate of -3 + 7I:

2

(=)

3

ZiCon.Ja
41 kra+ba

1:ars
S el

7

ENG

)

CHMPLE m Math &
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* Find the modulus & argument of 1 +1I:
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MODE 6 : MATRIX
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To perform calculations involving, up to 3x3, matrices.

To perform matrix

[

|

Matri1xy
S:Matc

1iMatAa =ZiMatE

calculations, you first assign
data to special matrix
variables (MatA, MatB, Mat(C)
& then use the variables in
calculations.
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MODE 6 : MATRIX

. 2 1 Maté im=nl msn?
Assign (1 J to MatA: 1:3x3 213xE %2
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MODE 6 : MATRIX

Press |AC] to advance & perform calculations

MATRIX 3 1zCinm z:ats
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MODE 6 : MATRIX

* Inverse of MatA:

HatA

MAT @m@

AC

SHIFT

Ui

- Lh, ihae
e Determinant of MatB: SiMata  difath
T det =HE N
AC]| [SHIFT 7| IsHFT] (4] (4] ()
detiMatBy — | detcMatEy
3




MODE 6 : MATRIX

Editing Matrix Variable Data: |AC] [SHIFT] [ 4

SilatA dimMatE 3 4 liMatAa zZiMatb

e

1:10im  Zibata MatA (1 2) Matrix?

S:tMatC &iMatans St Matc
Fidet  S:iTrh 5 6
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MODE 6 : MATRIX

1201 Ziat )
* (MatA x ): |AC] [SHIFT| | 4 3iMate  4:Matb
=R
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MODE 4 : BASE-N (Base-N MODE)

(uooe) (4]

x? DEC J_ HEX 10

QDOOU

BIN " OCT

Convert the decimal number 75 to binary

Convert the binary number 110001 to

decimal
5 110001
7)15] (=] |log Bin Dec
49
0000000001a01011
1)11J(0)10])(0]|1])|=]|x?
Add the following binary numbers: Subtract the following binary numbers:
1010+1111 1010+1111 s 111-101 111-101 x
Bin Ein
QO0Q000C00001 1001 aoooooooooaoooin
g/ 1) OJ(1J0)+H (W)W E=) logf 1) (1) (1) 1=)1])(0])(1]|=
Multiply the following binary numbers: Divide the following binary numbers:
101 x 11 101211 i 1101+11 (101=11
Ein Ein
gooooooooooniill Qo000 Lo
e OO XDIE= U0 EMOAME




Initialise/Reset your calculator
when you want to clear your calculator &
return it to factory default settings.

sHiFT) (9] (3] (=] [aC

e e —

Note: This operation also clears

all data currently in the calculator memory
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